BUTEX Admission Test 2002-2003
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tan x
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TYH: |A+B|5 A—B|
=A’+ B? +2AB cos0 = A% + B> +2AB cos(180° — 0)
= A’ + B? +2AB cos0 = A% + B> — 2AB cosb A /%ﬂﬂ 5

=> 4AB cosO=0 = cos8=0= 0 =cos 0 =90°

- AAB=9(0° (Ans.)
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Tiy: u, =10ms™', u, =5ms™, a; =2ms >, a, =3ms >, t,=t,=t,s, =8, =s.

1.3 . | y 1
We know, s =ut +—at "U'HEa’t —u2t+-2-azt :>u,—u1=5(a3—a])t

— t= Z(u, —112] = b= 209-3) =10sec .. t=10sec. (Ans.)
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17. 0.4 Wb m™ % o co@d yuyy fr @96 @ios 10°ms™ et sifeder | e e g 30° W
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syt B = 0.4 Wb m? , v=10°ms™, 8=30° q=1.6x10"" Coulomb
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BT IS FAC© ANY E?
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At AR s B @ ) iz wme, Q) 6,76, o) SEE-Sen |

srret: %) HS05~O)-N = N<O)-N (CHj),
Cl

@ Cl CHj CHs
I 1 2| 3 4| 5

) H_C-—(i:_C] ) H3C — ('IZ — CH, — CH — CHg3
@ Cl CHj
Cl

7Y H,S0, @ @3 3R (7R o7 HRes Wiy | 59 s7pfeet wfie Fre 0.02M KMnO, e 98.5¢m”
AT T | TR ST S&" o fa?

Fage: 2KMnOg4 + 10Fe®” + 8H,S804 — KpSO4 + 2 MnSO,4 + 10Fe3 + 8H20

~. 2mol KMnO,4 = 10molFe*" or, 1 mol KMnO4 = 5mol Fe**

Or, 1M 1000cm’ KMnQO, = 5x55.85gm Fe

- 0.02M 98.5 cm® KMnO, = 2222:89%0.02x985 _ ( 5551Fe  (Ans.)
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<) Zn (20-40%), Cu (60-80%) Baq 5 R 91 foreeT
1) Cu (75-90%), Sn (10-25%) Tad 8 (1w I DA |
s Rfermeter s o9 3
%) ZnSOATH,0 = ooon..on. ®) MnO; + SiOz = ........ ) Ca(OH), + Cly —2 5
AqYE: F) ZnSO4 7H,0 ) MnSi10; ) Ca(OCI)Cl + H;0
GATFI 7 9 3
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H o @t 3.5% 107 iy wiq &if 75w it et CH;COOH @7 TH9idt 36 s 3047 [Kﬂ=1.8><10'5]
syt [HT 1=[CH;CO01=3.5% 10" K,=1.8x 107
[H"][CH,COO] [H*][CH,CO0]

_ CH;COOH] =
We know, K, [CH,COOH] = [CH3COOH] K.
4 —4
— 3.5}(1108 xli}'ixw =6.81x10~ mol/L. (Ans.)
O X :
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N 7 :
YA (F) CH,: /c}ﬁ{ (vgEaE) (%) ‘1}%’ (e fagaeE) (o) 0O, (%t 'v' wrglen)
AT E H/ "\H

. {
¢ 148 ! MIECICTCE 110 REE T R




28. 25°C «3r 35°C sHuiain uo armHe R[femrmea = eiermT 2.25x% 107%/min 992 7.1x 107%/min | Ricite

Hieraw i T o9
siE: Ky = 2.25% 107%/min Kz 7.1x 10%/min
= (25+273) = 298k = (35+273) = 308k
= _— = -2 — o
lng}“-? . E, . T,-T, ~ log ’i'.l::»:ll{]_2 _ E, y 298 3{)8
k, 2303R | T|T, 2.25x10  2.303x8.314 | 308x 298
—E, —10 19.147%x91784%0.5
0.5= = E. = =8.79x10%] .
19.147 91784 : 10 4 LAns)

29. o @b spfam frrsw) TN.T.  4) DN.AA o) RN.AA ¥) CFC
AW F) JIR 3! 624 (Tri Nitro Toluene)
) wiy 2@ FeFs A (Deoxyribonucleic Acid)
) RN.A=1231 R8s+ «fsie (Ribonucleic Acid)
¥) C.F.C = @it gt 3149 (Chlorofluoro Carbon)

30. fore RiFTFRs SR BoF @ ofet @ 519 et Fate Seeiiv gfa vt T of o ¢
¥F) N>+ 3H, ' 32NH; + St
¥) Ny +05,—7 3 2NO - o9
%) CO +2H, —* 5 CH;0H + %St
FAYL: ) 519 = 200 atm (LT 450°C -550°C)
) B9 = G A CIESTT S I0T BT (I &S (7% | St = 3000°C
st) 57 = 200 - 300 atm, St*=1@t = 300°C - 400°C

31. Change the narration :

a) He said, “What a fool I am!
Ans : He exclaimed with sorrow that he was a great fool.
b) The doctor said to the patient, "Do not take tea or coffee for some days."

Ans : The doctor adviced the patient not to take tea or cnffee for some days.

c) We said, “Long live Bangladesh.”

Ans : We prayed that Bangladesh might live long.

d) The boy said to the teacher, “Let me go home, sir.”

Ans : The boy politely requested the teacher to let him go home.

33. Translate into English:

a) &7 31 ©F IFAT CTeT | Ans. Either he or his friends is guilty.

b) ofir f& T AT MTITR?? - Ans. Have you ever seen a tiger?

¢) fof sre e T o957 | Ans. He has been sick for seven days,

d) =t 2Rl =ret vEee A, i 6 Ans. We can not do without English, can we? -
e) IS (T OfF W4y Wow (et Bt | Ans. Seeing the scenery, the mother rose in her.

34. Show appropriate use of the following phrases in sentences of your own choice:
a) Call up : The waves of the sea called up memories of her childhood.

b) Bring to light : The great saint brought the secret to light infront of the robbers.
c¢) Greek to : The teacher explained the topic, but it was all Greek to me.

d) Speak ill of : We should not speak 1ill of others.
e) In black and white: The officer wants the whole report in black and white.
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